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0id DFS(int vertex, int verticesCount, int graph[ ][MAX_VERTICES], int visited[])

int1i, j, top=9, parent;
int ancestor[verticesCount+1], stack[verticesCount+1];

memset(ancestor, -1, sizeof(ancestor));

jijztﬂzﬁ;\giigfj stack[top++] = vertex;
N s while(top >=0) {
@E/\j ED%E i=stack[top--];
while (visited[i]==1&& top >=0) {

L el 2EEWFERRA - 7
AU RED

if (top < 9)

hreal -

printf("Visit v%d\n", i);
visited[i] =1;

for(j=0; j<verticesCount; j++) {
if(visited[j] ==0&&graph[i][j] ==1>"
top++;

stack[top] =J; (5 FE e RS 55 S AT E B
janeestortal = (BHRIFLHBETE,
} la
}

printf("\n"); I8dice
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void DFS(int vertex, int verticesCount, int graph[ J[MAX_VERTICES], int visited[])
{

int j;
printf("Visit v%d\n",vertex);

. ¥t BRI P B0 ARV P
visited[vertex] =1; SRS

for(j=9; j<verticesCount; j++) {

if(!visited[j] & & graph[vertex][j]==1) {

DFS(j, verticesCount, graph, visited); @ﬁﬁﬁi@?ﬁfﬁﬁ%ﬁ‘ﬁ'ﬁiﬁ
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void BFS(int vertex, int verticesCount, int graph[][MAX_VERTICES], int visited[MAX VERTICES])
{
int j, ancestor[verticesCount+1];
queueMaster *queue;
memset(ancestor, -1, sizeof(ancestor));
queue = createQueue(queue);
enqueue(queue, vertex);

HENMTINZEEEREA
while(!isEmpty(queue)) { ED,.ﬁnyILinfj

vertex = dequeue(queue);
if (visited[vertex] ==1) .
continue: (T A AEH I FEER
visited[vertex] =1; SONEHEE
printf("Visit v%d\n",vertex);

for(j=0; j < verticesCount; j++) {
if(visited[j] == 0 & & graph[vertex][j] ==1) {

enqueue(qugue, g);
ancestor[j] = vertex; e
} ERTIEEREEEE
}} BE R Fh AR EN R
printf("\n");
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